£OAPEXi.

Iy AFEEERL

SOAPEX].,

2098-3212



€y
@

S-AFC S-AFC
S-AFC S-AFC

NO

NO

NO

NO

1C )

(M6x 1.0,L=16)

i

(M6x 1.0,L=20)

i

;

(M6x 1.0,L=25)

i

(M6x 1.0,L=30)

o

(M8x 1.25,L=20)

(M6x 1.0)

-
&/

(M8x 1.25)

N

MR

2098-3212




POWER INTAKE

» ®)
© ()
©
)
@) ©)
Q) ©)
©)
m @)
m )
Q) w D)
10 ) ) P)x m
Q) @)
Evo MR
m ) m
)
I79Y-15 992 (Foh) TI7y MIDDImAN
I7TIMCAD .
HER MNP
BER NP g
ﬂw‘%) 2y T (B E
i = I799-1U3Vh / 73D
L SERINP) /C\
i
SR DAED . )
T R=3 AT DD
1770-%-3 (G YU IR JI/T(N) A=Y
FER M)

YNy T
FLIETyMH
®

¥
A-DITYR D

bS] HETNHD
VEVY \ "

. - A-ABIE 7Uv7
I770-07 30D N AL T T 39D

2098-3212



Evo

(MR
Evo

© Q) ©)
o N) ® )
Evo
) ®
)
MR
MR nN)
MR
©)
©
Q)
kgf
kgf
[POWER INTAKE #fiE]
A2 IR (F)
1770-%735 (C)
FIER N (P) i
YUHANNNT (N)
NAE YT T b (L)
MRERT 77y I RAH]
GMRERAT 790
POWER INTAKEEfELEL
-------- @F I =T
@7 79N ()
@F Ih
®T 7903
2098-3212




POWER INTAKE

Kit

@ 160

@ 85

POWER INTAKE

SILVER Version

Kit

@ 160

@ 85

POWER INTAKE

Kit

@
O]
®
Q)
®

@
@
®
4
®

@
O]
®
*
®)

@

2098-3212



26p 16p  12p 22p
1I7I0-{E§
I6GER 7-2 [EIEES AMES
-1 EiR
35p 28p |/ 30p
I I I{_L}H£!1I=“~ |I
A B X C
ITI-ES I9hEE 209 HES
El¥E{ES
A"PEX 401-A007 A"PEX 401-A011 401-A012
Evolution Evolution Evolution MR
Karman Karman Karman
) T ® 1
Hi-Thr Hi-Thr Hi-Thr
Low-Thr Low-Thr Low-Thr
Hi-Thrtl
Low-Thrtl
2098-3212




Ne (rpm) 1000 2000 3000 4000 5000 6000 6500 7000
Ne (rpm) 1000 2000 3000 4000 5000 6000 6500 7000
+ + +
Ne (rpm) | 1000 | 1600 | 2200 | 2600 | 3000 | 3400 | 4000 | 4600 | 5200 | 5800 | 6400 | 6800
Ne (rpm) | 1000 | 1600 | 2200 | 2600 | 3000 | 3400 | 4000 | 4600 | 5200 | 5800 | 6400 | 6800
Ne (rpm) | 1000 | 1600 | 2200 | 2600 | 3000 | 3400 | 4000 | 4600 | 5200 | 5800 | 6400 | 6800
Ne (rpm) | 1000 | 1600 | 2200 | 2600 | 3000 | 3400 | 4000 | 4600 | 5200 | 5800 | 6400 | 6800
No.
"01. 5.19 2098-3210
"03. 4.12 2098-3211
"04.11. 6 2098-3212






